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f Complete each pattern. Write what the rule is.

60 | 55 | 30
45 35
30|25
15|10

N

If

1,7=7

2,9=18

3,1=33
4,15 =60

Then
5,17=7

Find the missing numbers. These both have the same rule. What is the rule?

If
4,7=28
5,9=45
6,12=72
7.4 =098

Then

8,19=7
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Name:
3 10
27 - +1Q "o
3
Ty
8 5 3
10 10 1
M) +5 -55 2 |7
Write the correct symbol. Write the unshaded part as a decimal. | © raom
<= 1 R
ou79 () 9u97 O rahm
O roam
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X 3 7 4
56 48
X X3 X7 X XI'l X X
12 Q 12
X X3 X7 X XI'l X X
24
X X3 X7 X XI'l X X
. 24 L2 30
6 x 6 x 3 | 6 x 7| 6« 6 x H | 6« 6 x
12
2
2 x 2 x 3| 2 x 7 2 x 2 x 4 2 x 2 x
6
3
3 x 3 x. 3 3 x 7 3 x 3 x 4 3 x 3 x
o4
9
9 x Q x 3|1 9 x 719« 9 x 4|19 x 9 x
20
X X3 X7 X XI'l X X

Round the number to the
place value of the BIG number.

56.785

Name the polygon that has
ten vertices.

word root dur can mean harden or lasting

durable, duration



https://www.mathworksheets.com

Name:

MathWorksheets.com
Week of March 25

Robert and his father
went to King Frog's
Barbeque Shack. Robert
had a barbequed pork
sandwich, french fries,
and a small drink for
$5.85. His father had a
barbequed beef
sandwich, a baked

sweet potato, and a cup

of coffee for $7.15. How

The fifth grade students
are having a breakfast
for their parents for
Children’s Good
Manners Month. Ava
used a muffin pan to
make 4 batches of
muffins. Then she made
2 extra muffins. She
made 34 muffins in all.
How many muffins does

Anne and her mother
planned to take tulips to
the hospital for the 15
new mothers there. For
each mother, Anne
made a bouquet of 3
tulips and tied them
together with pretty red
and white ribbon. How
many tulips did she
need to make the

much did their lunches the muffin pan hold? bouquets?
cost in all?
Fill in the boxes so each line equals 16.
16
=3 530 4[20
2 | X This polygon has six more
sides than a quadrilateral.
What polygon is this?
7 ] -
( + 2 () +

What is one-tenth of 80? Which is larger, 2 oor -2

5 3
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Sudoku Sums of 8

Each row, column, and box must have the numbers 1 through 6.
Hint: Look for sudoku sums. The sum of the two boxes inside of

the dashed lines is 8.

Here is an example of a sudoku sum of 8: m m

NN

Add one hundred to 135.

What is the value
of the BIG digit?

12369745

Color 0.52.
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LIQQQSQLI-Q=o+oOo2oOo+obo=00050()o8

Use the pieces above to help you fill in the runaway math puzzle.

=177=17
3[5+|7|=
3 =
9
11+|1 1
216
8
+ 3 6
110+ =2
1 + =13 0
Share M equally among 2. O soww
O suo
5 | 10 6 | 18
O sow
O soow
Write the fraction for 0.79.
The factorsof bare _ _ 3 6
Circle the pair of words if they are Lucas' birthday is in August.
synonyms. Do nothing if they are Jessica's birthday is three Q6
anfonyms. months after Lucas' birthday. - 95

before/after, bent/straight,
build/erect

What month is Jessica's
birthday?
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1
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30+020+0108o8020=060301o10=070—07
Use the pieces above to help you fill in the runaway math puzzle.
9 - =18|-12
+
3 91=11
5 =
+ 4
+12|+|2
+ |3 4
3 7
Write a fraction to represent what is shaded. SLlG'CUbTe the sum of 9, 9, and

Locate where to put the number 436,000
and label the point F.

< (10100 )

418,000 438,000
Circle the answer that best completes What number is one hundred
the sentence. thousand more than 51617

(May/Can) you do a cartwheel?
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E8X9=72 U8 U4 36 8 10 1 17 28 72110 9 1 97 19 29 20
[112x8 = 2uU4 12181 8303103 7106 212 8
212 04 6 1011QUU QU 10275 6 1272

0Ox3=

L] 71072714 1 6 1 2 11 9 6 4 12 7 36
[17x5= 0 3289 2812 24731 131019 10 71 3 us

(] x4 = 20 10 2410034 10 12 9 2 8 96 3 M4 12 3 24 |\

724 7 156 19 2 8 61004 36 1100 10 10 | operation.

LJ6x12 = b 24 372010 1 010 12 77 73 7 5 | Write = sign.
20T

[19x5= 3 2402 177 20 1410357235 12 16 71 12 |Circle.
(6 x L = 5 9 835102797 6 5 1218 8 3734 8 30
319 34553623 7 15 11 5206 122735
L112x3 = 35 5293 5 1613436221 2 3100
(111x10 = 09 9 297 4 221U 17 59U 13
C710 ¢ 10 = 81013307 5 9 21010172309 245
N7x100=70 [; 387 07686 4m7610LYuS
[16x3= 204718 3 6 8 8UB26UB 10 U 3 16 6
(8 x3 = 8010 88 75317 3 8601 6 8 1 32
706 0567 2 12 8 6257 1512182327
[12xuU=
47917 35 22M 510 8 4 5 7 U4
[13x12= 717 66 39 11 610102M2 39 2
[16x10 = US7332712 31698609 7 166 6 85
(4«8 = 292 4 812 31228 1175 9 879 3 33
T6 s - 1510 128 325280 M 31 8 18
0 83 9 4293350U 1R 125 6927 2
[19x3= 36 Y4 20OM9 8028 370129 3 6
[18x10 = 3209 86236 479282317 1 31217

[18x7= 5 28 3 11 10 3218 12 242560 4 27 21 1
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Find the way from START to END by passing only through numbers that are multiples

of five.

You are not allowed to go diagonally. Good luck!

START

435

929

262

219

223

877

103

515

o

942

1

691

/78

993

895

82

Yy

133

204

8uy

589

/40

959

751

594

538

8

80

925

797

188

131

/84

/98

865

905

993

21

252

36

836

955

350

855

250

382

87

3899

665

910

30

275

230

735

855

104

958

/86

308

295

925

765

311

956

207

/02

386

887

END
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Russia, Austria, and Switzerland competed in a two-run bobsled competition.
The times on the first run were two minutes and 5.52 seconds, two minutes and 541 seconds,

and two minutes and 5.21 seconds.
The times on the second run were two minutes and 4.28 seconds, two minutes and 4.70

seconds, and two minutes and 5.01 seconds.

Figure out the time needed for each run and the combined run time for each team.

1. On the second run, the team from Austria was ninety-three hundredths of a second
faster than their first run.

2. The team from Switzerland needed more than two minutes and 4.39 seconds to finish
the second race.

3. On the first run, the team from Russia was twenty hundredths of a second behind the
winners of the first run.

4. The team that finished the first run in two minutes and 5.52 seconds was not the team
that finished the second run in either two minutes and 5.01 seconds or two minutes and

4.28 seconds.

Russia finished the first run in and the second in

Austria finished the first run in and the second in

Switzerland finished the first run in and the second in

Write the length in centimeters. What are the first three
2 4 | muliples of 72
23

|IIIIIIIII|IIIIIIIII|IIIIIIIII|IIIIIIIII|IIIIIIIII|IIIIIIIII|IIII

My 2 3 4 5 b

Circle the relative adverb.

This is the school where I went to
kindergarten.
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Where can
I get more of this
great stuff?

More things for

IS ) the classroom!

More
science\.
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” Take The Boring

. Out Of Homework!/ <

L("Dr. Programmer” a2+,

: ! X - challenges kids..
Kids want choices — ge

for homework.
“Take It Home” books
have fun graphics and
challenging puzzles and
problems for older kids.

1 -y

Homewark
will never be L
ihe samel 1A




